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447} b A S S = 03022
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0.3% 0.3 x 0.3 = 0.027
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3. & a¥ox AB =BC = CD = DE ©|1 /CDE = /A + 40° ¥
o], /\BCD 9] 327]&?

D

@ 90° @100° ® 1100 @ 1200 © 130°

B \
/A = /a 2} 5HH

/CBD = /CDB = Za + ta = 2/a

(DCE =a+ tADC = Za+ 2/a = 3Za

/CDE = 180° — 2 x 3Za = 180° — 6Za

39| /CDE = /A + 40° = a + 40° 0] B2

Za+ 40° = 180° — 64a

oo La = 20°

.. /BCD = 180° — 2 X 2/a = 180° — 4/a = 100°
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AABE = AACD

-pC=[0]

@ @:AE ® ©:EB
@ @ : AD ()@ : ASA

® ©: AC

B

[714] AABC °]|4 AB = AC, AD = AE
[22] DC = EB

[5] AABE 2 AACD A

AB =AC, AE = AD, /A = 350|282
AABE = AACD (SAS &%)

.. DC=EB
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